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Time Allowed.: 3.00 Hours I [Maximum Marks : 100

Sidleysnrsst : (1) Henendg) allammas@Esn #lnrs =iEsl udard o éersr esranLsman
sfluriggs Qararareyn. eFsiudeald  GamudmiQen %mm$
sesTemiiurenii b 21 angwurs Qsflalsseain.

2) Beodb mevwm SmUY  @wlama  wLHGW eT (LD G &l &M (51D
21q56aMyHausNEGL Lwauhss CaamT@n. ULREE aarasns
Cuendle Lwem(REs e b.

Instructions : (1} Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) *Use Blue or Black ink to write and underline and pencil to draw diagrams.

@ﬂﬁlu I @m@ﬂmnggrrsh _r_r,rrs'crr@ u@@&ameﬂ' (leniraisi .

Note : This question paper contains four parts.

u@d - 1 /PART -1

@Oy : ()  oemengg allamss@réEhd eflalwefEse. 14x1=14

() Gar@ssiu’ Garer oy elelsaid Waab sHumw alaLulaas

GsibQshasd @Muir Grer aleneenuyid Goidgl er(gsa|L.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. n(AxB)=6 LDE‘)‘I;]JL'D A={1, 3} ¢renile, n(B) Ll
(1) 1 (<) 2 (@) 3 () 6
If n{A xB)=6 and A={1, 3}, then n(B) is :
(@) 1 (b) 2 (c) 3 (d) 6

2. f:A-B ypaig QmUnE Ty whmib n(B)=7 erwile, n(A) <pung)

(1) 7 ()49 (@) 1 (=) 14
If f: A—B is a bijective function and if n(B) =7, then n{A) is equal to :
(@) 7 (b)y 49 © 1 (d) 14

3. 1 apsen 10 eusnyuerer (@) FeiT(h ereors@nn = | LIL DI GNEITHS) CTRMSATIEY 1D aUELU(BID
WGEFS ML eremr :

(<=1) 2025 (<21,) 5220 (@) 5025 (m) 2520
The least number that is divisible by all the numbers from 1 to 10 (both mnclusive) is
(a) 2025 (b) 5220 (c) 5025 (d) 2520

@ FL 0d Qerii euflesule 31 o MUUSE o arara. igem 16 -cug il

4.
m arafld, Bipss Tl (DS CTT suflengulsh o aner erebam 2 mliL|&eailen sa(H e :
| 31
(=) 16 m (<) 62 m (&) 31m (w) 5 m
An AP, consists of 31 terms. If its 16 term is m, then the sum of all the terms of this AP is:
31
(a) 16m (b) 62m {¢) 31m (d) 5 m
5. xt+6l -m (p(Y eurGSLTSE WD (DemahalaTen 6T cTansd sl L Geuampn ?
(1) 4x2 (<21) 16x2 (@) 822 () —8x2
Which of the following should be added to make xt+64 a perfect square ?
(a) 42° (b) 16x° (c) 8x? (d) —8x?
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@M Crifly FWOGTUTL 96 euenyLL i (1 <2} EHLD
l:e._g’l} G ﬁ'& oy Y ' T )
Br&EGasmh (=) e’ Lib () ureusnanin (7)) @dfluresemeriuih

Graph of a linear equation is a

a)  straight i .
(a) s aight line (b) circle {c)  parabola (d)  hyperbola

. Igl‘Gu D I BC AB—qé (-]EI_LS ‘%C'_ 4 E .'!} — L. o "
I: | rs LR ‘o ] 2. (\;l .LB Lo LD 1LD 2 I ol & Ii: zh G‘)
"%] —Ujlﬁﬂ B.d | G

\ 2 b
(=) 14 Q&5 (=24,)1.8 Q518 (@) 1.2 As.8 (r) 1.05 Qg8
If in AABC, DE||BC, AB=3.6 cm, AC=24 cm and AD =21 cm then the length of AE i :

(a) 1.4 cm (b) 1.8 cm () 12cm (d) 1.05cm

UL L gdler Lleusfliiyprs Larefudedl g allLsdng agsmar OsrHCsIdsar
auenrulepmd 7

(=) gpengr () Greimy
(@) wpyeupp aameisans () yhelwb

How many tangents can be drawn to the circle from an exterior point ?
(a) One (by Two

(c) Infinite (d) Zero

(=5, 0), (0, —5) wpmb (5, 0) F W Yerallsermad amndaILBID (p&Canamagler

Uy

(=1) 0 & Sl0EsT (<) 25 5. DI (EHET

(@) 5 & uEsear (FF) 10 & Se@EHSET

The area of triangle formed by the points (-5, 0), (0, —5) and (5, 0) is :

(@) 0 sg. units (b) 25 sq. units

(c) 5 sq. units (d) 10 sq. units

[5@115 / Turn over
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10.

11.

1,

13.

4
T=a tand LMD y=Db sech srefleh,
2 2 2 2 2 2 2 2
Iy C X 0 x I x ¥
<3 Sl =) S5 -5 =1 \ st ty= it} g0
(<=4) B2 a2 (<2p) 2 B (@) 2 Ll 1 (FF) a2 Tt
If x=a tan® and y =D sech, then :
2,2 2l 2 2 2 2
y X b ) X Y X W
LI o | —=%=1 —ih =] S
@ w22 ® 27y €@ T @ 77

4 Q8 2 wirpld, 10 Q&8 S Ui sl apld Csranr_ e Chien L 2 peneTullen
GUENETLITLILY : '

(1) 40 7 55T SOGHET (<24} 20 ™ o7 DV GSET
(&) 14 7 sqir SEs6T
The curved surface area of a right circular cylinder of height 4 cr and base diameter 10 cm is

(@) (k)
(©) (d)

(Fr) 80 w JGHIT AL GSHET

40 1 sqg. units 20 7 sq. units

14 w sq. unils 80 m sq. units

Fowrer N LD WHHLL 2 WrbD 2L w @ 2 (henel, & Sy WwHNW &b
GaratsSler san sereyseafian ellgibd :

(&J'};Q;S (%)213
The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter

(@) 1:3:2 (FF) 3:1:2

and same height is :

(a)

1:253 (h) 2:ulz3 g 1352

QarRésiul L nflysaia eree g Blapifluen Hlebgseirs Qmbs (PiYLITF 7

(<21) 0 (=) 0.5 (@) 1.05 (rF) 1
Which of the following values cannot be a probability of an event ?
0 (b) 0.5 () 1.05 d 1

@)
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14. @@ BLUmEE Gouman Hapi BDETET Bl 1pssmeneng) % GCalenas Hant_ssning

: ) ) 2
BmULghsren Rsngsa) 5 eraflad, x ~flen dliumeng;
(=1) 2 (2) 1 (&) 3 () 1.5

The probability of getting a job for a person is - If the probability of not getting the job is 3—,

then the value of v is :

(@) 2 (b) 1 O 3 d) 1.5

L@&S - 11/ PART - 11

GPlly : semeuGuenid 10 allanrés@Ens@ el welldsayn. eilen e 28 -&@
SL_Lmuwig eflen weaNEseLd. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. AxB={(3, 2), (3 4), (5 2), (5 4)) crafled, A b B -5 swawms.

If AxB={(3, 2), (3. 4), (5. 2), (5, 4)} then find A and B.

16. f(x)=3x—2 gx)=2x+k ML fog =gof erele, k -@én dllienus ETers.

If f(x)=3x—2, g(x)=2x+k and fog = gof, then find the value of k.

17. aPxb2=800 erammeurm e @b WBlens (p(pHaHaT ‘2 Lommib b -grs SIS

‘a’ and ‘b are two positive integers such that ab x b?=800. Find ‘a” and b’

: 4x? 6x23
18. &(H&GS : rY X —

222 20yt
2 3
. dx“y _ 6az
Sim : Z X —
P-h-{'}’ 2, 2 ZOy’;’

[Q@L'Jug; / Turn ove
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19,

20.

21.

22,

23.

6

IE]G;”’@_I Lb F o . -
Lilg & FLOG! : . . e i ; .
2k Bx(\—lﬁ 65%%) . COTLIITL 1q €0l gyasurma;@ﬂm &n@.g;nsu DD MILD Qu@fﬁ&;mumﬁm EHITEITE.

Find the ] y
the sum and product of the roots for following, quadratic equation,

22 +8x -65=0

&(TF maﬁ_g;e‘cf.r 18 8 #lip&Gs Qsargy Genart 24 8 auL&Gs Coadprer. GgmLss
hlepeudlel(mrgl seur @mawn Wsrenmenaldh ETaTs.

A man goes 18 m due Last and then 24 m due North. Find the distance of his current
position from the starting point.

A(—3,9), B(a, b) wmmub C(4, —5) eresruenm (Be;srrl_emmgi)g, Ljareflser whmid a+b=1
arafley, a wHmnb b -uflen wELmLs Srams.

If the points A(—3, 9). B(a, b) and C(4, —5) are collincar and if a+b=1, then find a and b.

-5

(—1, 2) ererp el aIlfl GlEaaigin, gmie) — - 2.@LILFWDT CriaGamiger

FLOGTUTL_6DL_& HTES.

Find the equation of a straight line which has slope ~,~ and passing through the point

1, ).

AiEcoed. cosech + cotd GTenLIanS ﬂﬁ[blﬁ]é?fﬁml-h-
1 — cosb

1 + cosf
t = cosec + cotb.
Prove tha J T




24, @ Hewrig SAnTECE TS,
HDULIT isn g smems.

If the base areq of

7
7722

Sleit g uiurliy 1386 .08 crafld, 2ge dwrgg,

a hemispherical solid is 1386 sq. mebres, then find its total surface area

25. 2wy DD w1 1 . A .
W 2 8 LLOMILL <Sig Lreng 250 g8 GlanirerL Gl 2 (HeneTUlilai Sen =iemeneus srames

Fir >y [ cylinder whose heighl i
1d the volume of cylinder whose heighl is 2 m and base area is 250 5(. m.

26.  Glar®

23 6%,

BEIULL STall eraflsenes ofés hmib eiFsECsp g Aucinaps s,

48, 33, 18, 39, 44

Find the range and coefficient of range of the following data :

25, 67,

48, 53, 18, 39, 44

27.  gh CplLrerigs (leap year) 53 safllsflipaminser e Lugnsran Bepsss eraar ?

What is the probability that a leap year selected at random will contain 33 Saturdays ?

28. 23 pmid 12 =y Eweupdlen 5.0ur.ar. srams.

Find the HCEF of 23 and 12.

GOy : steneuCuenid 10 el emds@nd ailanL w afld & a. Aer crar 42 -5

u@gF,] . | f_PART-III

10x5=50

GL_L_mwions eflenL W efldseLd.

Note :

29, A={rxeN]|l<x<4}, B={xeW|0=sx<2] L HmID

Answer any 10 questions. Question No. 42 is compulsory.

C:[IENl-':':S} GI'GDﬂ.’:‘.D.

Ax (BUC)=(A x B)u(A xC) ereiiliang, &iflLIMT&Hsa|LD.

Let A={reN|1l<x<4}, B={xe W|[0=x<2} and C={xeN|x<3}.

Then verify that

A x (BUC) = (A x B)U(A X C).

[QKW'JL_I&; / Turn over
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30.

Sl

32,

33.

34.

A={0,1,2, 3 LopMId B={1, 3, 5. 7, 9}

GT6oTL I Gy - :
O =241 arends GQar@assci g B0 s@iiad ooy,

QG EFFTsnenms; Qsirain(y

(i) ‘@-ILDL_{GS@LISI UL_1D (ii)

f:A—B €Tag)ih &y

2L_L_cuen gy

() eufepgs Gemg seflar seamp (iv)  euenyul
<sSuaiperms @Ol EHe|1D

ety r ¥ = :[_, 3' 5; Fr’ 9 b t‘“r v . L]
f@)=2x+1. Represent this :mctio; ) be two scts. et f:4 B be a function given by

() by arrow diagram (i) in%a lable form
() as a set of ordered pairs. (iv) in a graphical form
F(DBD sreams P +103+.......... 217

Find the sum of 93+ 103+, 213

64x% — 1637 + 1722 — 2x +1 erenLigah euidsapald Hres.

Find the square root of 64x% - 16x3+17x2—2xr + 1.

1
A= [ 31 2] ereflab, A2~5A+71,=0 erew Flmes.

3 1 i
If A= [_1 2} show that AZ—3A +71,=0.
Caaev Csppsams eTipd Blmiibsna.

State and prove Thales Theorem.



35.

36.

37.

39.

9

(9, m. 1o - :
2. (=8, ~4), (2, 3 DD (1, - 3) o

T e 16 - : W LeTaflss :
JIi & TSl G UTUED LI& &ty st ganer (LPENENFarTa Q&g

Find th(“ I K 1 . i — {% = 4] [
- dal'eg Of q‘l_'ladrl |all.1'1'(‘ll 11']]':}5{"' Vl?l"l_ll_(‘ﬂ are n f ( 9 2 J ( 4) {2 2 n 3
X x ’ ’ ! 4 J (1; T :'.

A{~4, 2) bHmID B, —4) erenp Lehaflamar @)

: . GNEMTd(HLD ¢ T ‘
FOSTUTL 60L& Sirais, O LS 555G 10 6

Find the equation of the

B(6, —4) perpendicular bisector of the line Joining Lhe points A(—4, 2) and

,@@ es%n_lsb5sh sORGET elordasdear @ L&ESBRIGAID &Laléd Lwer b
G]Eua&]cfo‘rg)m, @\ sLuLwsal el Bhe saksanr dlensggdlcrn = &8y lan THmé
@Enwmaﬁ wpenmGul 30° OmID 45° epEih. swiseamr afleTdaglear = wirh 200 8
GFGSﬂEU @ SUILSEHEE e G o drar QsTeneencud srans. (3 =1.732)

Two ships are sailing in the sea on cither sides of a Lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships arc 30° and 45° respectively. If the lighthouse

is 200 m high, find the distance between the two ships. (/3 =1.732)

45 Qa8 ewreperer @ G _saamLsSe @B un S rmisar penEu 28 Ge.L8
oMb 7 H&.8 erafle, Qe Ssam GHler seam yeTamald HTeims,

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum.

6 Q=15 @y whpb 15 A8 2wird Garar qm G6T .E?LJI'_L_ 2 e GL'I.q.@'JL'J
UTSErDd appeugions Lailésalp (Icc-cream) o drarg,. | BEL u?ﬁlaﬁgnsﬂg, ZLLUE
HOID BienrEGaTeTD Geahs ey el lrﬁll;ruumu@.ﬁgjgﬂ. amm&]ecsr.p_mm? 9 5‘55
hmib 2,y 3 Q.8 erafle, ungfrssle o drer Lailssmaip Bl aaHsenen

sabL&EeT Gganau ?
' i ; us d height 15 cm is full of
i i . ~drical container of base radius 6 cm an ght 1 )
i S cones of height @ cm and base radius 3 cm, having

. : o-cream is to be filled in 3
ice-cream. The ice-crea {he container.

a hemispherical cap. Find the number of cones needed to empty

772

[ mys / Tum over
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40. 24, 26, 33, 37, 29, 31 S Aweumlen ommUTL (B ClH(IPENELS HTsH s

Find the ceoefficient of variation of 24, 26, 33, 37, 29, 31.

4. Qr&T(H usmLEET G pan =rl LoudEspan. pee usemLuild 1ps whlly
Qrien l usL sram Sidwg ps ndiiysaller mGigh 8 -2es feLlushane

Hl&pssemeld SreaTs.
T'wo dice are rolled once. Find the probability of getting an even number on the first die or

the total of [ace sum %,

42. TH+T74T777 4, eraip Qg aflaaudsar n 2 plLFeTE &Hso Srams.

Find the sum to n terms of the series 7+ 77 1 777 + oovveeeenn

IJ@':Q - IV [ PART -1V
GOILY ;| emenGg ellamTds@nsEin elant wiefldsea)n. 2x8=16

Note : Answer all the questions.

=) PO=45 Q&.8. R =35 wpmid 258 R -ulempmag sussruiul’ L mH&CHTL g
b Bl 5
Berd RG=6 Gg.15 erem e APQR euanys.
| LN

(<25)6 Qa5 el Laperer il L b aueprhg et SHlenm enpwidSladlmibg 8 Gle.b
Qsreveveddr P erenm Lsteflenuids @hl&sa)n. =lijsrealuilcimng PA whmibd
" PBerénp @ QemhiGarpaer euanrhg eubblen Seriusean iemellfis.

43.

Construct a APQR which the base PQ=4.5 cm, [R =35° and the median RG from R to

PQ is 6 cm.
OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.
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44. (=) y=242-3x—5 -ullen SUEDILIL 1D @IenThl, Semens Luiam iBbd) 2x2—4x - p—g
ETGHm FETUTLenL & Si&HsHea|b.
3|60 60 5
(=24) xy=24, v, y > 0 T UHPTULHEDS CUENIS. GUEDI]LIL S UwamiHas),
1) a=3 erafled y -0 snews.
(i) y=6eTale x -0& STaTH.
(a) Draw the graph of y=2x2—3x—5 and hence solve 2x2—4x 6=0,
OR
(b) Draw the graph of xy=24, x, v > 0. Using the graph find,
(i) y when x=3 and
(i) x when y=6

-00o0-
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